NeatTech

INSTALLATION MANUAL

North America: +1 800 400 0625
Europe: +353 (0)1 858 0910
Asia Pacific: +852 2581 0570 Humanscale



PARTS ANDTOOLS INCLUDED

1x Set of Hooks

@) (o

4x #10 x 5/8" Screw

Ax #10 x 1" Screw

TOOL NEEDED FOR ASSEMBLY

H

Philips Head Screwdriver

STEP 1

Using the template printed on the box, mark where the hooks will be on the bottom of the work
surface. Install the hooks with the arrows pointing to the front of the desk using two screws per
hook of the correct corresponding screw. If using a work surface:

Less than .875" in thickness use the shorter screws (#10 x 5/8”) provided
Greater than .875"” in thickness use the longer screws (#10 x 1”) provided



STEP 2

J
Once the hooks are installed, hang the basket with the plastic tabs at the bottom, as shown
above. Ensure that the hook-and-loop fastening strips face the front of the desk.
STEP 3
=
—J \_IP —J —J —J ] T
= =
d g
i o

Secure the power strips, cables and other peripherals within the basket using the hook-and-loop
fastening strips.

STEP 4

Once the cables are secured, lift the plastic tabs and secure them to the available hook to

complete installation.



Humanscale’

humanscale.com

For our terms and conditions please go to
https://www.humanscale.com/about/legal-information/terms-conditions.cfm

© 2019 Humanscale Corporation. The text and artwork are copyrighted materials. All rights reserved. The Humanscale mark and
logo are trademarks of Humanscale Corporation and are registered in the United States and certain other countries. The Neat Tech
trademark is owned by Humanscale Corporation.

HSNTIV02



